
AXELENT AB • BOX 1 

KÄVSJÖVÄGEN 17 • SE-335 73 

HILLERSTORP • SWEDEN

TEL +46 (0)370-37 37 30

INFO@AXELENT.SE

WWW.AXELENT.COM

X-Rail

C-0012846-01/C-0013692-01 | 2208_X-Rail_assembly_guide

ASSEMBLY



X+30

X

Axelent X-Rail | 2/18www.axelent.com

Handrail: x+70

Kick plate L min.80 - max.1500

Handrail fittings with rivet,
Page : 5

Handrail fittings with 
selfdrilling screw,  Page : 9

Handrail end bracket,  
Page : 4

Handrail inner corner /
Kickboard Inner corner,  Page : 14

Handrail outer corner/ 
Kickboard outer corner, Page : 10

Tested and approved against the 
following standards:

    - DIN EN ISO 14122-3: 2016
    - BS 6180:2011
    - AS 1657:2018
    - OSHA 1910.29

Mounting of post in various types of floor,

Page : 3

✔ ✖



Axelent X-Rail | 3/18www.axelent.com

CONCRETE

Optional counterplates/
welding plates

T01-41, (20x10-9942)

T01-42, (20xG2187-1)

10-9906, M8

10-9883,M10

10-9703 ,M10

10-9915, M8x70

10-9731, M10x80

10-9916, M8x90

10-9604, M10x90

G2536

10-9928, M10x20

G2297-1

10-9703, M10

S-0136-02, S-0136-03

M8x60,5, M8x51

10-9713, M10x90

GRID FLOOR

I-BEAM & MDF

All tests and verification have been performed with 
below various types of floor to ensure that it works in 
different environments:
- Concrete
- 38 mm mdf board placed on top of an I-beam in steel
- Grid floor placed above an I-beam in steel



Axelent X-Rail | 4/18

B00-103

www.axelent.com

R1

L1 L3L2

R3R2

648mm

551mm

1139mm

1042m

PH 2

PH 2

FXB-4.8X13ZB

G2532

FXB-4.8X13ZB

G25321

 2

 2

 1

max. 3 mm.

1

1

2

2

max. 3 mm.

X-43mm

X-43mm

X

X

2x Handrail  (G2528-XXX-3)

2x Handrail  (G2528-XXX-3)



Axelent X-Rail |5/18www.axelent.com

G2525 G2526 FXB-4.8X32G2527 Art-MC6S-M8.25

G2291Art-G2292-150

FXB-4.8X13ZB

G2290

T08-3-150RE

2515100-1500

G2532 G2528-157-3

1170-XXX + G2066
(Not Inkluded)

G3055

B00-060

X 
1

X 
1

X 
1

X 
4

X 
1

X 
1

X 
1

X 
1

X 
1

X 
1

X 
4

X 
1

X 
1

X 
1

X 
1

B00-103

B
00

-0
56

P
11

70
-X

X
X

Hex 7 mm

6 mm

PH2



Axelent X-Rail | 6/18www.axelent.com

1

3

2

4

2
1

2

G
22

90 G2292-150

G
22

91

P
11

70
 -

XX
X 

2515100-1500

Information, Page: 3x+30



Information, Page: 4

Axelent X-Rail | 7/18www.axelent.com

5 6

7A

1

2

3

3

click

click

G3055

G3055

2
1

G2525

FXB-4.8X32

B00-059 : Page 8

Hex 7mm

Right
Left

7B

551mm

1042m

PH 2

FXB-4.8X13ZB

G2532

 2

 1

1

2

max. 3 mm.



Axelent X-Rail | 8/18www.axelent.com

9

11

1

3

2

G
2526

MC6S-M825

G2531

G2066

92

6 mm

8

1

G2528-157-3

G
25

27

click



Axelent X-Rail | 9/18

B00-059

B00-059

1

2

7

6

8

4

5

3

G
25

24

    FXB-4.8X32

 10-9750

G
25

27

 G2526

M
C

6S
-M

8.
25

  G
25

27

6 mmPH2

G2524 G2526 G2527 FXB-4.8X32 MC6S-M8.25 10-9750

X 
1

X 
1

X 
1

X 
1

X 
1

X 
2

www.axelent.com



Axelent X-Rail | 10/18www.axelent.com

T08-3-100RE
B

00
-0

56

B00-060

Hex 7mm

6 mm

PH2

G2530

G2525

2515100-1000

G2526

G2292-100

Art G2527

G2290

FXB-4.8X32

G2291

MC6S-M8.25

G3055

X 
1

X 
1

X 
1

X 
1

X 
1

X 
1

X 
1

X 
4

X 
1

X 
1

X 
1

FXB-4.8X13ZBG2532

X 
1

X 
4

B00-103

G2528-157-3

X 
1

1170-XXX + G2066
(Not Inkluded)

X 
1

X 
1

P
11

70
-X

X
X



Axelent X-Rail | 11/18www.axelent.com

1

3 4

2

2

1

2
G

22
90

G2292-100
G

22
91

2515100-1000

Information, Page: 3

P
11

70
-X

XX



Axelent X-Rail | 12/18www.axelent.com

5

1
2

6

5 6

3
4

2

1

G3055

G3055

G3055

G2525

G
2526

Hex 7mm PH2

7 7

FXB-4.8X13ZB

G2532

 2

 1

Information, Page: 4

Right
Left

1 G
25

27

PH 2



8

2

2

1

3

2

1

2

G2530

G2530

G2526

MC6S-M825

MC6S-M825

G2531

G2526

6 mm

10 G2066

Axelent X-Rail | 13/18www.axelent.com

9

click

8

2



Axelent X-Rail | 14/18

B00-057

B00-060

T08-3-100RE

B
00

-0
56

G
25

29

Hex 7mm

6 mm

PH2

www.axelent.com

G2293

2515100-1000

G2525

G2294

G2292-100

G2526 G2527

G2529 FXB-4.8x13

FXB-4.8X32 MC6S-M8.25

G2290 G2291 G3055

G3055

X 
1

X 
1

X 
1

X 
1

X 
1

X 
1

X 
1

X 
1

X 
4

X 
1

X 
1

X 
1

X 
4

X 
1

X 
7

FXB-4.8X13ZBG2532

X 
1

X 
4

B00-103

G2528-157-3

X 
1

1170-XXX + G2066
(Not Inkluded)

X 
1

X 
1

P
11

70
-X

X
X



3

X -18mm

G2292-100

4

2
1

2

1
G

22
90

G2292-100

G
22

91

G2292-100

2515100-1000

Axelent X-Rail | 15/18www.axelent.com

1 2

Information, Page: 3

P
11

70
-X

XX
 



7

G3055

Axelent X-Rail | 16/18www.axelent.com

8

6

G3055

Hex 7mm.

Hex 7mm Hex 7mm

5
G2293

G2294
G3055



FXB-4.8x13
G2529

3

3

2

Axelent X-Rail | 17/18www.axelent.com

9

12

2 1
3 4

G3055

G3055

11

H
 =

1034 
H

 =
 544  

G
25

27

10

2

1

G2525

G
2526

4

4

Hex 7mm PH2

PH2

1

1

Information, Page: 4

Right
Left

FXB-4.8X13ZB

G2532  2

 1



Axelent X-Rail | 18/18www.axelent.com

14

15

click

G2066

13

13
1

3

2

MC6S-M825

G2531G
2526

FXB-4.8x13

2

6 mm

PH2


